U5 Day 2 Group Work Filled.notebook November 07, 2018

HW 5 - 1 Answers Factor each of the following:
1. 3(X2 - 2)(X + 7) 2. (5y + 7)(2X + 3) 1 3x3 212 6x - 42 2. 10xy(+14x-15y+21 3( )
= BX(%+7)~ b(X+7 =2x(5y+7)+ 3(5Y+7
> x9N -2) & e D) . (%f:(- a))6<+(7) ) N (sgfv)gzm)
5. -9(2x + 3) 6. (3x +4)(2x - 3) « 3{x2-2) (X
7. (4X + 1)(2X - 3) 8. (X - 5)(X + 1)(X - 2)2 3. xz_sxz-)zxq? Q) 4, ((4x-1)(3x(~2)-(4x-1)(?-5) ))
9. (5-x)(25 + 5x + X2 . (2y?- 4 =X (x+9) -2 (X* = (- (3x+2~ (2353,
(5-x)( X+x°) 10. (2y°- 3)(4y" + 6y +9) < (xA)(K-2) - (4x-y( 3+ 2-2X+3)
= (‘/-X-l) (\( +7
Oct 28-7:27 PM Oct 22-4:37 PM
; + =72
5. (2x+ 3)x-4)- (2x + 3)(x + 5) 6. 6x¥-x-12 % 9. 125-x 1o. f’g r
= (2x+3)(x-4-x+5)) - Gx=Ax+8x-12" " £ a-2
= @%+3)(x-9~X-5) = 3x(2x-3+4(2x-3) 2 2y-3)(4y>* o +9)
- X y-3)(Hy+ey
:-q[2x43) = (gx.g,)(gx-a-q) ( 5-x)25+5%~+ ) (
=24
7. 8x2-10x-3 g’ =10 8, (x%-4x)2- (x2- 4x)- 20
-12,2 bgr&:zxo’-—#x
=BX*12X+2% -3 “u-
= Ux(2x-3)+|(2X-3) = (- +H
= (2X=-)(Ux+1) (x2-4x -5)(x2-4x+ 4)
- (= sXx+ (x-2Y(x-D
= (x- D) X-D
Oct 22-4:38 PM Oct 22-4:38 PM
Factor each of the following completely.
Hint: you may need to use substitution fo make the question look mare familiar. 3. x'-3x"-10+4x'+ 8x 4. X' -7x -18+x' -9x
Finish for HW any problems you did not complefte in class. ()(2—5}'5(24-2)"' 4)({)(242) m 6(2_ "IX)(?‘*Z)"' X(Xz_ q)
1, (¢ +3xY -2(x +3x)-8 2. (€ -x)-B(x*-x)+12 2 2 -5 - 2 2 - 2)
Lot te (430 Lot tm (X% (A2 H4X-5) (KL)% >+ :
W-2u -8 U-BU+IQ (K% 2)x+5XN%=D) = (ke 3-2XH+2)
(W-W)(u+2) (U-6)(u-2)
(X®3x-4)(X*+3x12) (x-(xX-2)
= ()X D(XHDKH) = (-2 D
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U5 Day 2 Group Work Filled.notebook

: 7'2))8_81& 2) . 4)2('“43_16{ 72 2)
= 3k+2)-8(X+ Y2 —b(x
_as) PR o)
S(X-DEH2XAE) < ()
Asige - (a2 KEDK-2)
X3 3 = (-2 2x+4)

0=X
b=2
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=
7. Let xandy be integers such that X’ - y' = 48, If x -y = 3 and 3xy = 18, what is x* + y'?
S N~

g:x XS_ 93= 4 9 )(9=é
(YACoy+y ) =48
3( xz+zo+yz)=_ﬂ§

3
)(’4(9492:;@,
K2+y=10

8, If(2x'+bx-10)(x+5)= 2% +17%* + 25x - 50 is true for all values of x, what is b?
K(2XE+bY-10)+ 5(2X*bx=18) = 2X*+(7X*+25X~50

X% bx% [OX +IOK3 SHX~DD= 2K %17 X*25%= 50

X3 +30 - + 30

PY* 0% —[ 0¥+ SbX = |7xj+25><
~]10x% +IX - JOX= 10X

bx2+5bx = Tx2+35X
2 9y2  ShXs35X
be:7)< bé/7
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9. If (2x + 3)(4x* - 5x + 6) = ax’ + bx" + cx + d, what is the value of 2b + c?
X @XP-5X+00) + 3= 5X+o)
X (0X 12X+ 12X 15X +§

OX 3 2% 3X+[§ Jb+c= 22+ (3
0=% ¢=-3 =
b=2 d=I§

10. From Alg2CC Regents January 2017
Algebraically determine the values of h and k fo correctly complete the identity stated
below:

2x7 - 10x* + 1x - 7 = (x - 4)(2x* + hx + 3)+ k
210X M IIX-7 = x(2X*+hx+3)- H2XHx+3)HK
WX IX=7 = 2K HhX=3X- 8K*=Hhx~(2+K
=% -2R
JOCHIX=T = s X thg XK

SJOX%E hxRex>  IX=-Yhx3x 724K
IX=hy® §X = Yhx 5=K
...Z _—h ‘2 —_h
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11. Similar question
Algebraically determine the values of h and k to correctly complete the identity stated
below:
3 - 2x -ISXfE:(x*Z)(szfhx-E)':’
3y 2% |3x+ § = X (3 hx-3) -2(3CHhx-5)+K
20X [3X+ F = 309 hiE 5X- pX*-Zh X HOPK
—2X%= +hx=bX* -13X="5X-2hX  §=[0+K
2 - Q¥X=- 7=
Uy*=hX EX=;2hx 2=k

h 4 2h
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